/e _
Geometry Semester 1 Review Name: m e W@Mﬁi-———

Choose the best answer choice.

1. What is the next number in the sequence: 2, -1, 4, -7, ...7

a.-9 ) -10 810 d.-11 e.-12
. . .
2. Name three non-collinear points.
a.P,Y,Q @M,N,P : &
eM N, Z 0RO S
eX,N,P /"{ . \o\\
Zz
3. Findthelengthofﬁ.MQ= 30, MN =5, MN = NO, OP = PQ.
b. 10 & Vs (o
@15 d. 20 =0 .— ® _8
= 25 M N G B
+ 20 =
4. Point H is between G and I. Solve for x when GH = 8x + 7, HI = 3x - 2, and GI = 38. A& Bx-2
b.5 c.7 d. 31 e.39  o—to -
‘ W %
—_—
5. Find mZBDC . Where m£ADC = 150° and mzADB = 35°. 23
a. 185° @5 X +S >33
c. 25° d.175° JIX =22
e. 100° @
6. Find the midpoint of a segment with endpoints A(-7, 3) and B(3, -3)
a.(-2,-3) -2, 0) c.(-5,0) d.(2,0) e. (-5, -3)
7. AB bisects ZCAD . Find the value of x. s -1‘—>,< &<
a.2 b. 56
c.5 d. 28 5
8. Find the value of x.
a.13.3 ()
c. 14 1 26 Zxt2 =4 S

e.25 (3x +2)° (4x - 5)° R

9. Find the area of a triangle with a base of § m a height of 4 m. A "S.(%B( ub - iom™
s a.19m b. 32 m? 6 m? d. 16 m e. 12 m?

the converse of “If you are hungry then you did not eat 1unch7”



a5 b. 30° c. 45° (d)eor A |

13. In the diagram, WX = YZ . Find the length of XZ .

: 5% + 1 9x - 3 11
a. 11 b.2 o——o —e—1—@
c. 15 d. 4 Wl X il v
@26 Sx+| f—‘(:) ’s
14. Two angles 21 and £2 are complementary. If mz1 is 27°, what isn22? e
£27° b. 54° c. 90° 3° e. 1537
15. Solve for y in the diagram.
"a.20 2xHR 15¢42 = 1RO
c.51 d. 78 Fx t2W0 =80
e X = (D
16. Which angles are consecutive interior angles? p K=20
a. 23 and 45 b. Z4 and 26 P53 Dl 3
= = Hytlo
; A 1)2
£ 23 a?:clldcd and B 3 ¢ S| =yt
s/e i y=ys
L = 7,
17. Which lines are skew to BF? / 3 -
a. DH and JH b. C4 and IG 1“G
c. CD and GH d. Aand B / X e H
and C Cl + {D
: J
18. Which of the following must be true if a Lb: /
1. 21 and £2 are complementary 31 : A B
[ mel +me2 < 180°.
. m£1=m«2
@ only b. 11 only c.land I d.land III e.1, 11, and I11

a. Alternate interior angles theorem
'b. Alternate exterior angles theorem
c. E e Ay ,.‘! - -r I ‘ -m 1 Il . 34\

19. allb. Choose the reason that statement “If the mz 1 = 65°, then m«5 = 65°” is true. :
\12




e

22. What value of x makes a||b?

a. l ‘ '
5 G e ]
23. Find the slope of the line that passes through (5, 2) and (é, 5 / 3):;‘);30
a. 1l -1 c. % d. %. e.2
24. Which equation of the lines passes through (3, -2) andis paralel t0 y =< x? 2=gE)0 by
a.y=—§-x—2 =-x+3 @y—— - d.y=%x e.y;%x+4

25. Which equation of a line is perpendicular to y = ——2—x-—3-7

2 3
a.y=—§x+3 b.y=—%x+2 c.y=—-§—x+3 d. y=3x+3 y=5x+6

26. Find the measure of 21.
a. 50° b. 90°
c. 60° g an°

@85"

27. The perimeter of AHIJ is 36. The extended ratio of the sides 1s2 3:7. Find the lengths of the sides.
a4 9 b. 4,6, 14 &8, 12,23 921 «Z.5. 7

e ox42w % = Ao
28. In the diagram, — AR L0 Find the length of AE . 0 12X = 3o
BB-<CE (=
B
b. 15 i iy '9-
@17.5 b K
a. 131
e, 3 DBY =0
ot s Eoee T30 A

3 15

70ids shown are similar. What are the values of x and y?




31. What is the perimeter oftrapczmd BCDE if EB|| DC?

a. 26
b. 28 4q _ 1o
< 31 : 4 g
g:33 104 =S
'0 or 30.1 v I
U™ Sl
32. Which similarity statement and postulate or theorem conectly identifies the triangles’ relationship?
a. AABC ~ ACDE by SSS Similarity Theorem : D

b. AABC ~ ACDE by SAS Similarity Theorem
c. AABC ~ AEDC by SSS Similarity Theorem

d. AABC ~ AEDC by AA Similarity Postulate
e- ABC ~ AEDC by SAS Similarity Theorem
N

33. What is the length of OP ?
a5

2 M
b. 10= oy » 4 <
&3 4 e - 3
ﬂ) % P < in N
ol o = 4 &
St X=(o
34. Find the value of x. 20
22 20
4 ____Xo- - — /4,
< 26 4z~ % 15 3
428 25x = BHO o ,
® X=2>4 e
35. The triangle can be classified as
a. Acute isosceles
b. Acute scalene
Obtuse isosceles
d. Obtuse scalene 5
e. Right scalene e :

36. If AABC: \XYZ , which of the following statements below is not true?




38. Which r;csnss»tulate or theorem can be used to prove that AABC = ABAD? R o ‘ﬁf
a. D B

b. SAS ‘
© % A
. AAS B
e. None of the above
G

39. Which postulate or theorem can be used to prove that AEFG = AIHG?
a. SSS E

b. SAS
ASA G H
AAS F

e. None of the above \q

|
40. What is the third congruence needed to prove that AMNQ = APNO by f\_Sﬂ?
a. 2Q=4P

M O
b. ZMNQ = £PNO
c. ZM=+,0
LM = 2P | B J
e. ON=NO P

41. Which postulate or theorem proves the triangles are congruent given M is the midpoint of KQ and

KL||PO? K P
a. SSS
b. SAS
\ ASA
Wg@ AAS /
e. AAA Q

42. Which statement correctly described the congruence of the triangles in the previous problem?
a. AKML = APQM
b. AKLM = APQM




44. What is the value of x? : el . R n .
ég XUl = ¢+ | x+11 \3x+ 1 b
c 7 IOz Dy ‘

d. 9 X =S ‘ 2x+8
e 11

45. Ch the reason that the triangles are congruent
[a)

SSS
()

e. Cannot be proven

SAS
AAS
ASA

46. Solve for xand y.
a. x=120andy=60
b. x=60andy=60
c. x=30andy=120
x=120and y =30
e. x=60andy=120

3

3
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S 5 e
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